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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Driving Deaths and Population Density
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Driving Deaths and Population Density
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models
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Gas Milage and Car Weight, selected models


● 

● 

●●

● 

● 

● 

● 

● 

● ● 

● 

● 

● 

● 

● 

● 

● 

● 

●● 

● 

● 

● 

● 

● 

● 

● 

●

●

● 

● 

● 

● 

● 

● 

● 

● 

● 

●

●

● 

● 

● 

● 

● 

● 

● 

● 

● 

● ● 

● 

●

● 

● 

● 

● 

●

● ● 

●

●

● 

● 

● 

● 

●●

●

●

● 

● 

● 

●

● 

●

● 

● 

● 

● ●

● 

●

● 

● 

● 

●

● 

● 

● 

● ●

20
 

25
 

30
 

35
 

40
 

45
 

50
 

M
ile

s 
pe

r 
G

al
lo

n 
(h

ig
hw

ay
) 

r−squared= 0.66 
SEE= 3.14 

Slope= −0.007 
Stnd. Err. Slope= 0.000555 

0 1000 2000 3000 4000 5000


Car Weight (lbs)

Source: Venables and Ripley, Modern Applied Statistics with S+ (2001)




Gas Milage and Car Weight, selected models
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